
ASSEMBLY INSTRUCTIONS 

HAVING TROUBLE?
TOLL-FREE:

 

Invermere 
2-Cube Organizer
PRODUCT NO. 168-0215-2



 

To the trend seekers and design mavens,
CANVAS™ is the furniture and décor brand  
that helps you imagine and create a space 

you can be proud of.

That’s because CANVAS™ o�ers style with 
ease with products that are made for real life

and Canadian inspired. 

We would love to hear from you and welcome 
your thoughtful feedback. Visit our website

at canadiantire.ca to tell us about your 
experience, and share your photos with us 

using #myCANVASstyle. 

Show us how you bring CANVAS™ products 
to life. We can’t wait to see!



TABLE OF CONTENTS

TOOLS REQUIRED

Follow all warning labels.

4

7

9

13

14

14

No. 2 Cross-head Screwdriver 
Tip Shown Actual Size

NOTE: Do not over-drill.
Be aware of over-drilling.



PARTS LIST

4

ITEM  DESCRIPTION THUMBNAIL          QUANTITY 

1

2

1

1

Top panel

Shelf

3

4

Bottom panel

Left panel

Right panel

1

1

15

INVERMERE 2-CUBE ORANIZER



EXPLODED VIEW

Warning: Before assembly, please check all accessories in the hardware box,
and ensure parts are not missing.

1

2

3

4

5

5INVERMERE 2-CUBE ORANIZER



HARDWARE LIST

ITEM DESCRIPTION THUMBNAIL          QUANTITY 

12

12

1

1

1

A

B

C

D

E

Screw M7x70mm

Wood dowel  M8x30mm

Coated paper sticker

1F

1G

12

4

H

I

Anti-tip bracket

Screw M4x35mm

Hex key

Wall anchor

Screw M4x12mm

6 INVERMERE 2-CUBE ORANIZER

EVA foot pad



BEFORE YOU BEGIN ASSEMBLY

7

?

MAKE SURE ALL PARTS ARE PRESENT

REMOVE PACKAGING MATERIALS

READ EACH STEP CAREFULLY

ASSEMBLE IN A CLEARED AREA

If
．

on

670

INVERMERE 2-CUBE ORANIZER



8

BEFORE YOU BEGIN ASSEMBLY

1. Screw cam bolt into the pre-drilled small holes on panel. Align the panels to be joined 
    so that the cam bolt goes into the pre-drilled hole on the edge of the second panel 
    and protrudes into the hole that will house the cam lock.

2. Insert the cam lock into pre-drilled large hole on panel. Make sure arrow on the cam 
    lock is pointed toward the cam bolt.

3. Once the cam bolt is connected inside cam lock, take a cross-head screwdriver and 
    tighten the cam lock by turning clockwise.

You are now ready to assemble the product.

CAM LOCK SYSTEM OPERATION

INVERMERE 2-CUBE ORANIZER



STEP-BY-STEP GUIDE

STEP 1

Insert four wood dowels B into both sides of shelf 2.  
Insert the other ends of wood dowels into left panel 4 and right panel 5.
Insert four screws M7x70 A through left panel 4 and right panel 5. 
Use hex key G to tighten all screws.

9

A x4 G x1B x4

2

4

5

A

A

B

B

B

B

G

A

A

2 x1 4 x1 5 x1

INVERMERE 2-CUBE ORANIZER



STEP-BY-STEP GUIDE

STEP 2

Insert eight wood dowels B into each end of left panel 4 and right panel 5.
Insert the other ends of wood dowels into top panel 1 and bottom panel 3.
Insert eight screws M7x70 A through top panel 1 and bottom panel 3. 
Use hex key G to tighten all screws.

10

A x8 G x1B x8

1

3

A

A
A

A

A

A
A

A

B

B

B

B

B

B

B

B

1 x1 3 x1

INVERMERE 2-CUBE ORANIZER

G



STEP-BY-STEP GUIDE

Paste eight coated paper sticker H onto all cam bolt holes.
Paste four EVA foot pads I onto the bottom panel 3.  
  

STEP 3

11

H

H

H

H

H

H

H

H

I

I

I

I

H x8 I x4

3

INVERMERE 2-CUBE ORANIZER



STEP-BY-STEP GUIDE

STEP 4

Fasten anti-tip bracket C to the item with screw M4x12 E.
Drill a hole and insert one wall anchor D into the wall. Hammer wall anchor into 
the wall. 
Fasten the anti-tip bracket C to the wall with one screw M4x35 F.

12

1

D

F

C

E

C x1 D x1 E x1 F x1

INVERMERE 2-CUBE ORANIZER



22 lb

10 kg

12.9 kg

28 lb 7 oz

16 1/2 x 14 1/2 x 30 11/16"

41.9 x 36.8 x 77.9 cm

TECHNICAL DATA

SPECIFICATIONS 

ASSEMBLED DIMENSIONS  (W x D x H)

ASSEMBLED WEIGHT

MAXIMUM WEIGHT CAPACITY (Top and bottom)

36.8 cm 
(14 1/2”)

77.9 cm 
(30 11/16”)

13INVERMERE 2-CUBE ORANIZER

41.9 cm 
(16 1/2”)

10 kg (22 lb)

5 kg (11 lb)

10 kg (22 lb)

11 lb

5 kgMAXIMUM WEIGHT CAPACITY (Shelf)



WARRANTY INFORMATION

CARING FOR YOUR ITEM

  Weight Capacity:
• Do not exceed maximum weight capacity of 5 kg (11 lb) on shelf.
• Do not exceed maximum weight capacity of 10 kg (11 lb) on top and bottom.

1

3

4 Avoid placing in direct sunlight.

Wipe clean with a damp cloth.

PRODUCT NO. 168-0215-2

ASSEMBLY TROUBLESHOOTING

CALL US;
WE CAN HELP

BEFORE RETURNING  
YOUR PRODUCT

TOLL-FREE:

HAVING TROUBLE? 
LET US HELP YOU!

2
   Furniture tipping over can be dangerous. To reduce your risk: 
• Do not stand on, sit on or climb this unit. 
• Do not sit on top of unit.
• For indoor use only.
• Always place the unit on a flat, level surface.
• Regularly tighten all hardware to ensure unit is secure and stable. 
 

14 INVERMERE 2-CUBE ORANIZER




